Assembly Instruction
Counter & Bar Height Swivel Stools

ASSEMBLY TIPS:
1.Remove hardware from box and sort by size.
2.Please check to see that all hardware and parts are present prior to start of assembly.

3.Please follow attached instructions in the same sequence as numbered to assure fast &easy
assembly.



Parts List

Part Description Picture Qry
1 Backrest : 1
2 Seat 1
3 Wood legs 4
4 Backrest connector 1

ﬁ:—ﬁ\?
5 Footrest {flf \ 1
Q::ié)\




Hardware

Part Description Picture QTY | Spare
O O
F Metal plate 1
O O
G Swivel gear 1
H Screw(M6*20mm) W 12 1
I Screw(M6*25mm) W 3 1
J Screw(M6*25mm) O)mmm 3 1
M Adjustable feet % 4 1
Allen Wrench
K (i 1
M4(4mm)
Allen Wrench
L I 1
M6(6mm)




Step 1-Step 2

Step 1

Step 1: Refer to the diagram and take 2 wooden legs (Part 3) , Align Part F with the holes of the
wooden legs. Use the Allen Wrench M6 to tighten Screw H into the holes ,scruring them in to a depth
of 50%.

Step 2: Take the remaining 2 wooden legs. Again, refer to the diagram, and use the Allen Wrench
M6 to tighten Screw H into the holes, also to a depth of 50%.

Notice:
First, loosely tighten each screw to roughly half its depth, checking alignment with holes.



Step 3-Step 4

Step 3: Using the Allen Wrench M4 and Screw J , connect Part 5 (Footrest) and the wooden legs,
screw them in to a depth of 50%.

Step 4: Adjust the wooden legs as illustrated in the diagram. Align Part G (Swivel Gear) with the
holes on the wooden legs and position the 4 Screws H accordingly. Use the Allen Wrench M6 to loosely

tighten them to a depth of 50%.

Finally, tighten each screw sequentially to 100% for a secure fit.

Step 3 Step 4

Notice:

1. After all screws are initially at 50% depth, ensure that all parts of the chair are properly connected
before tightening all the screws to 100%.

2. If the screw holes are misaligned, it may be due to the natural expansion and contraction of the
wooden parts in different seasonal temperature and humidity conditions. In this case, you can apply
force to adjust the legs to align the holes. If this is not successful, please contact our customer service
team. We will promptly provide the necessary replacement parts (footrest/new wooden legs) to resolve
any issues and concerns.

_5_



Step 5-Step 6

Step 5: Start by removing Part 2(Seat) and Part4 (Backrest connector) .Refer to the diagram and
use the Allen Wrench M6 to tighten Screw | into the pre-drilled hole located at the base of the seat
board.Screw them in to a depth of 50%.

Step 6: Begin by removing Part 1 (Backrest) . Refer to the diagram and use the Allen Wrench
M6 to securely fasten Screw J into the pre-drilledhole on the Backrest.Screw them in to a depth

of 50%.

Finally, tighten each screw sequentially to 100% for a secure fit.

Step 5 Step 6

Notice:
After all screws are initially at 50% depth, ensure that all parts of the chair are properly connected
before tightening all the screws to 100%.



Step 7-Step 8

Step 7: Position the assembled legs at the bottom of the seat board . Use Allen Wrench M6 to
connect them with screws H. Align the screws with all the holes and tighten them in to a depth of 50%.
Finally, tighten each screw sequentially to 100%.

Setp 8: Screw Part M (Adjustable feet) into the bottom of the back leg.

At last, flip the bar stool over and place it flat on the ground. If it is not level, adjust the height of
the wooden legs by rotating Part M on the back legs to raise or lower them, ensuring that all four legs
make contact with the ground to achieve a level seat surface.

Setp 7 Setp 8
Usage Notice:
1. Check Screws Regularly: After prolonged use, screws may become slightly loose. You can use a
wrench to tighten the screws again before continuing to use it.
2. Avoid Direct Sunlight: Prolonged exposure can cause discoloration or damage to the surface of the
furniture.
3. Maintain Dry Conditions: For wooden furniture, it is important to keep it dry and avoid prolonged
exposure to humid environments to prevent mold growth or deformation.

Daily Cleaning:
Use a soft, damp cloth or mild cleaner to wipe the surface of the furniture to remove dust and dirt.
Avoid using rough cleaners or brushes to prevent scratching the surface.



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7

